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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 16794318979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the odd pair from the four given below.

Options:
; = Sikkim : Gangtok

> % Meghalaya : Shillong

% % Maharashtra : Mumbai

4 « West Bengal : Dhaka

Question Number : 1 Question Id : 16794318979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 16794318980 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the option figure that is similar to the figures given below.




Options:

1
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Question Number : 2 Question Id : 16794318980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 16794318981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Given below are a few images. Identify the image that is odd among them.

Tl

A B C D
Options:

Question Number : 3 Question Id : 16794318981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 16794318982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



‘What will come in place of the? in the below series:

IRk

Options:
&>
5
g
.:
= -

&

Question Number : 4 Question Id : 16794318982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 16794318983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will come in place of the? in the below series:

S| N|[J |,
e N 1 '
A B 2 D

V

o A

-

G
3. G
M
4 ® M

Question Number : 5 Question Id : 16794318983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 16794318984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following graph shows information about the death rate because of dengue fever in a tribal village *Z’ for the past 6
years,

number of death"s

During which period does the dengue-related death rate appear to have gone down in village ‘Z°?
Options:
1« 2012-2014

> % 2015-2016
5 % 2016-2017

4 ® 2014-2017

Question Number : 6 Question Id : 16794318984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1« 2012-2014
> % 2015-2016
= % 2016-2017

. ® 2014-2017

Question Number : 7 Question Id : 16794318985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the option figure that has the below figure embedded as part of it.
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Question Number : 7 Question Id : 16794318985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 16794318986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following information carefully and answer the given questions.

For a recruitment process in an accounting organisation, the candidates need to possess the following qualifications
criteria:
i) A graduate in commerce with at least 60% marks.
ii) An age of at least 24 years and not more than 40 years as on 1-7-2016.
iif)  The candidates should have a post-qualification work experience of at least 2 years.
iv)  They should have secured 55% marks in the selection process.
However, if the candidate fulfils the above-mentioned criteria except:

(A) at (i), and if the candidate is not a graduate in commerce but has a post-graduation degree in finance with minimum
of 60% marks, he/she should be referred to the Finance Manager of the organisation.

(B) at (iii), and if the candidate fulfils all the eligibility criteria of post-qualification work experience, but has secured
75% marks in the selection process, he/she may be referred to the Trainee Accountant.

Based on the above information study carefully whether following candidates are eligible for the recruitment process
and mark your answer as follows. You are not to assume anything other than the information provided in each question.
All the cases are given to you as on 1-7-2016

Praveen Kumar has completed graduation and post-graduation in commerce, and has secured 51% and 68% mark
respectively. His date of birth is 26.11.1990. He has been working as an executive in a reputed firm for 2 years. He
secured 54% marks in the selection process.

Options:
1 % He should be selected

-~ « He should not be selected



- u He should be referred to the Finance Manager

4 % He should be referred to the Trainee Accountant

Question Number : 8 Question Id : 16794318986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 16794318987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are travelling in city local bus. The bus reaches destination stop but you have yet not purchased the ticket because
of heavy rush and conductor is busy in issuing tickets to other passengers in the bus. What should be your logical step?

Options:
. w Jump out of the bus quickly

-~ u Give the ticket money to the driver

= % Shoutat the conductor for not issuing the ticket

4 « Call the conductor, give him the money and get the ticket

Question Number : 9 Question Id : 16794318987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 16794318988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the transparent paper is folded at the dotted line, what will be the resulting figure?

Options:

38 ..
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Question Number : 10 Question Id : 16794318988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 16794318989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the most appropriate option.

A mobile phone must have:
Options:
, « calling facility

o % Zames

- % touchscreen

banking apps

Question Number : 11 Question Id : 16794318989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 16794318990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Study the following Venn diagram carefully and answer the question.

Gujarati A £ Marathi
52
Hindi

How many persons speak only Hindi?

Options:
1 % 152

o® 02

A
%
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IJ

e
g{
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O

Question Number : 12 Question Id : 16794318990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 16794318991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sharada points to man saying. ‘“He is my father’s son’s son”. How is he related to Sharada?
Options:

1 % Father

-  Nephew

z % Uncle

4 % Brother

Question Number : 13 Question Id : 16794318991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 16794318992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If “<" means —. ‘=" means +. ‘=" means ¥, and *$’ means + then what would be the value of 13=5085<4?
Options:

1 ® 12

4.« 19

Question Number : 14 Question Id : 16794318992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 15 Question Id : 16794318993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are some benches in a classroom. If 3 students sit on each bench, then 2 benches are left unoccupied. However, if
2 students sit on each bench. 4 students are left standing. How many students are there in the class?

Options:

1 ® 33

o R 29

o
g{
Lad
=g

Question Number : 15 Question Id : 16794318993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 * 33
> & 29
=« 24

g4 ® 36

Question Number : 16 Question Id : 16794318994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average age of a father and son is 21 years. If the father’s age is 32 years, then what will be the age of his son after
5 years?



Options:
| % 6 vears

5 % 10 years

5 15 vears

4 % 20years

Question Number : 16 Question Id : 16794318994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 16794318995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One pair of words shares different relationship as compared to the rest of the pairs. Find that odd pair out.

Options:
, = Bicycle : Pedal

- u Car: Steering

3 « Pencil : Eraser

4 = Aeroplane : Cockpit

Question Number : 17 Question Id : 16794318995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 16794318996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the odd pair of numbers that is different from the rest.

Options:
; % 16:20:18
> % D:15:12

- % 8:24:16

4« 06:12:1

Lh

Question Number : 18 Question Id : 16794318996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

;% 16 : 20 : 18
- % 8 245 112
2 % 8:24:16

4« 6 : 12 : 15

Question Number : 19 Question Id : 16794318997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next number in the below series?

3.7 1, 32,57, 93,7
Options:



Question Number : 19 Question Id : 16794318997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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3,00 16 32,57, 83,7
Options:

v 142
. % 150
- % 157

L % 148

Question Number : 20 Question Id : 16794318998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What would come in the place of question mark in the below series?

L T E RN
Options:
1. ® K

Question Number : 20 Question Id : 16794318998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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ereral Awarensss

Group Number : 2

Group Id : 167943715

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Gerieral Awareness

Section Id : 167943780
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section I1d: 1679431206
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794318999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements is NOT true with reference to Mahmud of Ghazni who invaded India?
Options:
1 « He was an Iranian invader

» » Hewas believed to have invaded India as many as 17 times

- = Rajput kingdoms were battered by his invasions

4 = He carried away a lot of wealth from India

Question Number : 21 Question Id : 16794318999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 16794319000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Match the following South Indian dynasties with the respective famous places related to their kingdoms.

K. Pandyas P. Halebidu

L. Hoysalas Q. Madurai

M. Kakatiyas R. Thanjavur

N. Cholas S. Warangal
Options:

; ¢ L-P.K-Q M-S N-R

. » M-S,K-R,L-B.N-Q

. x N-R,K-Q,L-S,M-P



, » KR.L-S M-P,N-Q

Question Number : 22 Question Id : 16794319000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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K. qusar P. gaifeg
L. gmenr | Q. #AgY
M. Serfaar | R. d=R
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Options:

. » L-P, KQ, M-S, N-R

, % M-S, K-R, L-P, N-Q

- » N-R, K-Q, L-S, M-P

. » KR, L-S, M-P, N-Q

Question Number : 23 Question Id : 16794319001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following served as both, Vice President and President of India?

Options:
1w KR Narayanan

> % GS Pathak

z % Krishan Kant

4 % BS Shekhawat

Question Number : 23 Question Id : 16794319001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 16794319002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

was holding the portfolio of River Development and Ganga Rejuvenation in the Union Cabinet as on 1%
September 2018.

Options:
1 + Nitin Jairam Gadkari
- % Uma Bharati

Radha Mohan Singh

Maneka Sanjay Gandhi

Question Number : 24 Question Id : 16794319002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 16794319003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Arrange the following ranks in the Indian Army in the ascending hierarchical order.

1. Lieutenant General, 2. Colonel, 3. Major General, 4. Brigadier, 5. General

Options:
| 2-4-3-1-5

Question Number : 25 Question Id : 16794319003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁmﬁﬁaaﬁmﬁ'&@m%h#qﬁﬁma@ﬁgﬂw H T=T|

1. df¥cae Jad, 2. FaAdd, 3. AT F1A, 4. FafFaw, 5. I
Options:

@ 24315

o /% 3-1-5:2:4

5 % 3-1-5-4-2

4 % 4-2-3-1-5

Question Number : 26 Question Id : 16794319004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Armed Forces (Special Powers) Act was withdrawn from all areas of from 01 April, 2018.

Options:
, « Meghalaya
- % Arunachal Pradesh

Nagaland

Tripura



Question Number : 26 Question Id : 16794319004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 16794319005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is a leading sportsperson in the game of *Shooting’?

Options:
. « Saurabh Chaudhary
Tajinderpal Singh Toor

Arpinder Singh

 Neeraj Chopra

Question Number : 27 Question Id : 16794319005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 16794319006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who won the ‘Plaver of the Tournament’ in the ACC Women’s Asia Cup 2018 cricket tournament?

Options:
L W Harmanpreet Kaur

> % Salma Khatun

% % Rumana Ahmed

4 = Mithali Raj

Question Number : 28 Question Id : 16794319006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 16794319007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

founded the Satvashodhak Samaj.

Options:
, « Jyotirao Phule

- % Pandita Ramabai

- # Ishwarchandra Vidyasagar

4 = Swami Dayanand Saraswati



Question Number : 29 Question Id : 16794319007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3faa Ry gae Nea T & 9fa +1

= HoUUes THATS Sl FATIAT
Options:
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Question Number : 30 Question Id : 16794319008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Most of the rock paintings discovered in Bhimbetka (Madhya Pradesh) belonged to the

Options:
, « Prehistoric period

- % Indus Valley Civilisation

- % Mauryan period

4 = Post-Mauryan period

Question Number : 30 Question Id : 16794319008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 31 Question Id : 16794319009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 36™ International Geological Congress (IGC) would be held in in March, 2020.

Options:
1 « India

- % Australia
= % France

4 Norway

Question Number : 31 Question Id : 16794319009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 32 Question Id : 16794319010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which soil is generally considered to be infertile?

Options:
1 + Saline soil

-, u Peaty soil

- = Redand yellow soil

4 % Black soil



Question Number : 32 Question Id : 16794319010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 33 Question Id : 16794319011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the INCORRECT statement in regard to the Pradhan Mantri Awas Yojana - Housing for All (Urban).

Options:
, « Non-slum urban poor household are not covered

- u [lotal housing shortage is estimated at 20 million

- % [Ihemission is being implemented during 2015-2022

, = Rehabilitation of existing slum dwellers is envisaged

Question Number : 33 Question Id : 16794319011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 16794319012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the INCORRECT statement in regard to ‘Direct Benefit Transfer (DBT)’.

DBT aims to
Options:
1 + slow down the flow of information/funds

- u reform the delivery system in Government welfare schemes

= % ensure reduction of fraud

4 % ensure accurate targeting of beneficiaries

Question Number : 34 Question Id : 16794319012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 35 Question Id : 16794319013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cardiac cycle includes all of the events that take place during
Options:

1 « oOne heartbeat



> % two heartbeats
z % three heartbeats

4 % four heartbeats

Question Number : 35 Question Id : 16794319013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FSTF IF H & S & areir Tl geaT onfde gdr &
Options:
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BIrdGEC T

4 8

Question Number : 36 Question Id : 16794319014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The naming of any new element suggested by the discoverer is to be ratified by

Options:
, « International Union of Pure and Applied Chemistry (IUPAC)

- » International Council for Science (ICSU)

- = International Organisation for Chemical Sciences in Development

4 # The Global Network of Science Academies

Question Number : 36 Question Id : 16794319014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 37 Question Id : 16794319015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

The edition of the world’s biggest open innovation model - the Smart India Hackathon 2019 was launched in
August 2018 in New Delhi.
Options:

. third

- % first
3 % second

4 % fourth

Question Number : 37 Question Id : 16794319015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 16794319016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ISECG stands for ‘International Space Exploration Group’.



Options:
1 « Coordination

- w Campaign

= % Consultant

4 % Conductor

Question Number : 38 Question Id : 16794319016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ISECG & 0T 7 § ‘TN TIH TeFaeae IT|
Options:

Question Number : 39 Question Id : 16794319017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The membership of the International Union for Conservation of Nature (IUCN) is composed of

Options:
, « Dboth government and civil society organisations

non-governmental organisations only

- % scientific and academic institutions only

4 # government agencies only

Question Number : 39 Question Id : 16794319017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 40 Question Id : 16794319018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The National Commission for Protection of Child Rights (NCPCR) was set up in

Options:
1.« 2007

5 % 2003
5 % 2011

4 % 2014

Question Number : 40 Question Id : 16794319018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSET ST TIE0T AT (THEGENR) $r Tuer H & Ag T
Options:

| « 2007

. % 2003

> % 2011

L = 2014

Arithmetic Ability

Group Number : 3

Group Id: 167943716
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 167943781

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 19

Number of Questionsto be attempted: 19

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 1679431207
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794319019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[(12.8)°—(12.8)%]+[(0.04)%+0.04(26.56)] L
(2.25x5.76)+[(1.44%9)+(0.5]] ﬂlenﬁ e

Ifx =
Options:
1 % 3V5
> x 45
3. v 5v2

4 ® 4“\'@

Question Number : 41 Question Id : 16794319019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ilﬁ( o [(13.8)%—(12.8)%]=[(0.04)*>+0.04(26.56)] g. Sr ‘u‘E - 5

(z.25x5.76)=[(1.44x39)={0.5]]

Options:

1 = 3‘\/‘3
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Question Number : 42 Question Id : 16794319020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4445 45 45-1

If T - T + e = a + b+/5. then the value of (11a + 4b) will be:

Options:

<5 iy
1™ 2

LA
=
[

T
b
LA
LA

A
$<
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O

Question Number : 42 Question Id : 16794319020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1
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2
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Question Number : 43 Question Id : 16794319021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|-

Question Number : 43 Question Id : 16794319021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3#(52)(92) .

Question Number : 44 Question Id : 16794319022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Let x be the least numbers which when divided by 12, 16, 18, 24, 27 and 54 leaves the remainder 15 in each case but is
divisible by 29, If x is divided by 92, the remainder will be:

Options:
1. ® 43
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Question Number : 44 Question Id : 16794319022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = 43
o & 4?
T 53

4 « 59

Question Number : 45 Question Id : 16794319023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sum of two numbers is 4840. If 10.8% of one numbers is equal to 18% of the other, then the difference of two
mumbers is ¥% of their sum. The value of x 1s?
Options:
1 ® 20
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t
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Question Number : 45 Question Id : 16794319023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = 20
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Question Number : 46 Question Id : 16794319024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The number of pens in packet A is 20% less than the number of pens in packet B. If 25% of the number of pens in A are
transferred to B and then 20% of the number of pens in B are transferred to A, then the percentage of the total number
of pens that B now has will be:

Options:
2
46—
i S
1
46—
o R 3
2
55~
=z ® 3
1
i
4 & 3

Question Number : 46 Question Id : 16794319024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

he A H ST T HEAT Yohe B F I FF FEAT H 20% FH Bl A & UaAT T e @ 25% A B H
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Options:

462
3
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Question Number : 47 Question Id : 16794319025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The profit percent of each A and B is the same on selling an article for T 4200. A calculates his profit on the selling
1
price while B calculated it on the cost price of the articles, profit is 33 : % in each case. The profit of A exceeds the
profit of B by:

Options:
1 % T325

4 % T400

Question Number : 47 Question Id : 16794319025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fandlr a%g #T T 4200 & 397 W A 3R B & & o1 Fiawd TS WA g1 A 7 3T a7 95
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Options:

% T 325
> v T 350
2 = T 380

4 % T 400

Question Number : 48 Question Id : 16794319026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper buys goods at 25% discount on the marked price. He resets the marked price and sells them at 19%
discount on the new marked price and still manages to get 20% profit. By what percentage is the second marked price
more than the original marked price?

Options:
1
C11-=
L 9
10—



Question Number : 48 Question Id : 16794319026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 16794319027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average age of 150 students is 16.5 years. 60% of all the students are boys and rests are girls. If the ratio of average
age of boys and girls is 4 : 5, then what is the average age of the girls (in years)?

Options:

1 ® 15

4 « 18.75

Question Number : 49 Question Id : 16794319027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
150 faganfiat #r sifaa g 16.5 ¥ §. w=f Femf¥ai #1 60% @5+ & iR Av asfrar 81 afg o5
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Options:

1 = 15



. » 15.5
=z ® 16

4 « 18.75

Question Number : 50 Question Id : 16794319028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A person borrows a certain sum at 8% per annum. interest compounded vearly. At the end of one vyear he repays a sum
of T 7.500 and at the end of second year. he repays the balance amount of T 6.480. The sum borrowed by him is:

Options:
% 12,000

, » 12,400

3 o 312,500

4 % T12,600

Question Number : 50 Question Id : 16794319028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 12,000

, % T 12,400

. » % 12,500

. = T 12,600

Question Number : 51 Question Id : 16794319029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A right-circular cone of volume x. a right-circular cylinder of volume y and a sphere of volume z, all have the same
radius. The height of each of cone and cylinder is equal to 50% of the diameter of the sphere. Then which of the
following is true?

Options:
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Question Number : 51 Question Id : 16794319029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
; » x+y)=:
5 I+ =5

5 % X ===

4 % 2x+y)=3z

Question Number : 52 Question Id : 16794319030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

: : S s : 22
The length of a minute hand on a wall clock is 10.5 cm. The area swept by it in 10 minutes is: (take 1= ?}
Options:
; % 56.25cm’

5 o 57.75cm?
- % 57.84 cm?

4 % 58.50 cm?

Question Number : 52 Question Id : 16794319030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 56.25 cm?
5 ¢ 57.75 cm?
. » 57.84 cm?

, % 5850 cm?

Question Number : 53 Question Id : 16794319031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A vessels contains 1.120 L solution of spirit and water in which the ratio of spirit and water is 5 : 3. 16 L of this
solution is replaced by 23 L of water. What is the ratio of water and spirit in the resulting solution?

Options:
;. % 17:28

5 % 30:19

4« 19:30

Question Number : 53 Question Id : 16794319031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fordt sae F R iR ot &7 1,120 L ooy ¢ o e st oot &7 3o 5 : 3 B s@ Ol A
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Options:

. % 17 : 28
> % 28 : 17
2 % 30 : 19
L v 19130

Question Number : 54 Question Id : 16794319032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A sum of ¥ 2500 is divided between A, B and C in such a way that the ratio of share of C to the combined share of B
7
and Ais2: 3, and A gets - of the share of B. What is the difference between the shares of A and C?

Options:
1 % 250

> o T300
2 % 320

4 % T200

Question Number : 54 Question Id : 16794319032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ 2500 &r vs Wl H A, B AR C H W YK dler A § 5 C & A%T & A 3R B F HgEd AT ¥
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Options:

% T 250
5 v T 300
2 % T 320

L = T 200

Question Number : 55 Question Id : 16794319033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two men and 3 women can do a complete a job in 8 days whereas 3 men and 2 women can do it in 7 days. How many
men should assist 4 women to complete the job in 4 days?

Options:

"

1_@33

2_554

Question Number : 55 Question Id : 16794319033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_-563
2_-5-564
3¢ D

4.@35

Question Number : 56 Question Id : 16794319034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3
A is as efficient as B and C together. If A and B finish the work in 9 v hours and C alone can finish it in 48 hours. then
in how many hours B alone will finish the work?

Options:

Question Number : 56 Question Id : 16794319034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aﬁm,BﬁCﬁﬁgﬁ'm%w%]ﬁAﬁTBﬁmﬁmﬁgg g F O
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Options:

1 * 48
> 32
=z & -15

4 v 24

Question Number : 57 Question Id : 16794319035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A train travelling at uniform speed clears a platform 210 m long in 15 s and passes a telegraphic post in 5 s. The length
of the train (in m) and its speed (in km/h) are respectively.

Options:
1 « 105 and 75.6

- % 105 and 79.2
z % 110 and 78.8

4 % 110 and 80

Question Number : 57 Question Id : 16794319035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
mw@mgwmzm m TF SEHH # 15 s H 9 #aT & 3R TF e @
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Options:

.« 105 3R 756
. » 105 3T 79.2
- = 110 3i¥ 78.8

. = 110 3T 80

Question Number : 58 Question Id : 16794319036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A boat goes 16 km downstream and returns to the starting point. It takes 1 h less in downstream than going upstream. If
the speed of the boat in still water is 12 km/h. then what is the ratio of speeds going upstream and downstream?
Options:

1 ®

oo 122

L
3’{
-2
_u.J

o
5
I~
Lk

Question Number : 58 Question Id : 16794319036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1% 1:3
R -
=% 2.3
4 % 2:5

Sub-Section Number: 2
Sub-Section 1d: 1679431208
Question Shuffling Allowed : Yes

Question Id : 16794319037 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

Study the following pie chart and table and answer question.

Percentage wise distribution of studentsin &
different schools in a city

A
mB
mC
BED

mE

Total number of students = 4200

Ratio between Boys and Girls
School :
Boys : Girls
A 3 9
B 16 11
C 5 6
D 6 5
E 11 10
F T 6




Sub questions

Question Number : 59 Question Id : 16794319038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the ratio of the total number of boys in school

B, E and F to the total number of girls in school
D, A and F?

Options:
1« 29:21
5 % 28:21

s % 14:11

=1k

o=
b
—
LA

Question Number : 60 Question Id : 16794319039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The number of girls in schools D and E together is approximately what percentage of the total students in schools A and F?

Options:
1 % 44:8

4 o 468

Question Id : 16794319037 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension
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A S
B 16 11
C 6
D 5
E 11 10
P 7 6
Sub questions

Question Number : 59 Question Id : 16794319038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e B, E}ﬁTF:?rasaa*rjﬁ;m@a:r
fagamem D, A 3R F & sl & oo d&r
U eI T g7

Options:

L P 2
> % 28 : 21
2% 14 : 11

L% 15 : 11



Question Number : 60 Question Id : 16794319039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fe@rer D 3R E & o Hame asfhar & 5
T A IR F & & FoT OIE &1 T e

gfeera 872

Options:

| % 44.8
. % 43.4
5 % 456

L v 46.8
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Question Number : 61 Question Id : 16794319040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the options is closest in meaning to the word below?

Sanguine
Options:

, = Overweight
5 of Optimistic

=z % Covered with blood

4 = Sleepy

Question Number : 61 Question Id : 16794319040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the options is closest in meaning to the word below?

Sanguine
Options:

, = Overweight

-  Optimistic
=z % Covered with blood

4 u Sleepy

Question Number : 62 Question Id : 16794319041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the options has the opposite meaning to the word below?

Obdurate
Options:
;= Angry

-  Compassionate



4 = Unintelligent

Question Number : 62 Question Id : 16794319041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the options has the opposite meaning to the word below?

Obdurate
Options:
; ® Angry

-  Compassionate

4 w Unintelligent

Question Number : 63 Question Id : 16794319042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

Do vou sell apples the kilo?
Options:
1. % in

Question Number : 63 Question Id : 16794319042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

Do vou sell apples the kilo?
Options:
p. % in



o R at
3 ¢ ¥

4 % for

Question Number : 64 Question Id : 16794319043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option

apologised. T wouldn't have been so upset at the time.

Options:
1 % Hehad

-~ % Ifhe
= « Had he

4 % Would he

Question Number : 64 Question Id : 16794319043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option

apologised. T wouldn't have been so upset at the time.

Options:
1 % Hehad

> % Ifhe
= « Had he

4 % Would he

Question Number : 65 Question Id : 16794319044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

It's about time you exercising regularly.

Options:



1 % start
- % should start
= % will start

4 o started

Question Number : 65 Question Id : 16794319044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank space with the most appropriate option.

It's about time you exercising regularly.

Options:
1 % start

- % should start
= % will start

4 « started

Question Number : 66 Question Id : 16794319045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Change the speech form of the below sentence.

The policeman said to the boy. “Where do you live?”
Options:
; = Theboy was asked by the policeman.

> % Thepoliceman asks the boy where he lives.

5  Ihe policeman asked the boy where he lived.

4 w The policeman is asking the boy where he lives.

Question Number : 66 Question Id : 16794319045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Change the speech form of the below sentence.

The policeman said to the boy. “Where do you live?”

Options:
; = Theboy was asked by the policeman.

- = The policeman asks the boy where he lives.

-  1he policeman asked the boy where he lived.

4 = Thepoliceman is asking the boy where he lives.

Question Number : 67 Question Id : 16794319046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to complete the below sentence.

Ravi is a man is interesting to talk with, but
people believe them.

Options:
1 « Who; whose

» w that; what

2 R whom; when

4 % what; whom

stories about himself are so incredible that not many

Question Number : 67 Question Id : 16794319046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to complete the below sentence.

Ravi is a man is interesting to talk with, but
people believe them.

Options:
1 « Who; whose

5 % that; what

5 % Whom; when

stories about himself are so incredible that not many



4 % What; whom

Question Number : 68 Question Id : 16794319047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option to complete the below sentence.

My father gave me two English books he thought T would be able to read: however. was suitable for my
level.

Options:
, % Who! none

5 % whose: each

5 o that: neither

4 % When; both

Question Number : 68 Question Id : 16794319047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option to complete the below sentence.

My father gave me two English books he thought T would be able to read: however. was suitable for my
level.

Options:
, % Who! none

5 % whose: each

5 o that: neither

4 % When; both

Question Number : 69 Question Id : 16794319048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate word/phrase to complete the below sentence.

Many people are successful in their careers the fact that they do not have a university degree.
Options:
, = although



- w eventhough

5 « 0 spite of

4 % inview of

Question Number : 69 Question Id : 16794319048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate word/phrase to complete the below sentence.

Many people are successful in their careers the fact that they do not have a university degree.
Options:

, % although

- % eventhough

=  inspite of

4 % inview of

Question Number : 70 Question Id : 16794319049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate word/phrase to complete the sentence.

theoretical knowledge can be acquired from books. skills must be gained through practice.

Options:
1 % Even as

- % Even so
= % Sometimes

4 « Whereas

Question Number : 70 Question Id : 16794319049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate word/phrase to complete the sentence.

theoretical knowledge can be acquired from books. skills must be gained through practice.

Options:



1 % Even as
> % Even so
= % Sometimes

4 « Whereas

Question Number : 71 Question Id : 16794319050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the option opposite in meaning to the word ‘eternal’?
Options:

1 ® Concrete

- % Patient

-  Ephemeral

4 # Piqued

Question Number : 71 Question Id : 16794319050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the option opposite in meaning to the word ‘eternal’?
Options:

1 % Concrete

~ % Patient

-  Ephemeral

4 = Piqued

Question Number : 72 Question Id : 16794319051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the option opposite in meaning to the word ‘mendacious’™
Options:

1 % Perilous



> w Apathetic

5 » Perfunctory

4 « Veracious

Question Number : 72 Question Id : 16794319051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the option opposite in meaning to the word ‘mendacious’™?
Options:

1 % Perilous

-~ u Apathetic

- u Perfunctory

4 « Veracious

Question Number : 73 Question Id : 16794319052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the following sentence with the most appropriate option.

During the early period of ocean navigation. any need for sophisticated instruments and techniques.

Options:
, % sothathardly

2 When there hardly was

5 % hardly

4  there was hardly

Question Number : 73 Question Id : 16794319052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the following sentence with the most appropriate option.

During the early period of ocean navigation. any need for sophisticated instruments and techniques.

Options:



. w sothathardly
when there hardly was

hardly

4 « there was hardly

Question Number : 74 Question Id : 16794319053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

Refrigerating meats the spread of bacteria.
Options:
1 « slows

- % had been slowed

5 % is slowing

4 % slow

Question Number : 74 Question Id : 16794319053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

Refrigerating meats the spread of bacteria.
Options:
1 « slows

- % had been slowed
» 18 slowing

=

4 % slow

Question Number : 75 Question Id : 16794319054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the option that best defines the word in capital letters.

ACERBIC
Options:
1 % harmful or toxic

> % saccharine or sweet

-  cutting or biting

4 # small or dainty

Question Number : 75 Question Id : 16794319054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that best defines the word in capital letters.

ACERBIC

Options:

1 % harmful or toxic

> % saccharine or sweet

5  cutting or biting

4 w small or dainty

Sub-Section Number: 2
Sub-Section 1d: 1679431210
Question Shuffling Allowed : Yes

Question Id : 16794319055 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehiension



Read the following passage and answer the questions given after
it

The ancient temple of Kom Ombo, 400 miles south of Cairo,
where archaeologists recently unearthed stack of decaying
mummies is facing an unusuval peril: waterlogged foundations.

Decades of flood irrigation in the surrounding fields, which were
once desert, have soaked the soil beneath the temple. Water has
penetrated the sandstone foundations, combining with salt and
heat to scrub some hieroglyphs from the temple walls. The
symbols and figures, effectively the lines of an ancient story, are
fading to dust.

The solution, according to engineers working on a $9 million
American-financed project, is some modern drainage. Since
October 2017, dozens of laborers have been digging a 30-foot-
deep trench around the temple walls in an effort to drain the
groundwater and divert it back into the Nile.

Unusually, a team of archaeologists is working alongside the
laborers, hoping to save any treasures that are uncovered in the
dig. It has found significant objects, including a bust of Marcus
Aurelius, an Old Kingdom pottery workshop and a relief of
Sobek, the crocodile god of the temple. On a searing July
afternoon, one archaeologist held forth an ancient lunch: a fistful
of charred, 4,000-year-old grains of wheat, discovered in an
excavated urn.

The most exciting discovery may have been in recent weeks,
when archaeologists pulled a sand-encrusted sphinx from a damp
hole. It has been dated to the Ptolemaic era, which ran from 305
B.C.to 30 B.C.

At less than two feet tall, the sphinx is a dwarf compared with
the famed Great Sphinx of Giza, which rises to 65 feet and
stretches 240 feet from head to tail. It also had a broken paw and
no identifying markings.

But unlike the Giza sphinx, whose features are badly eroded by
time and the elements, the Kom Ombo sphinx is finely preserved

— as is the sense of its mythic power: a man’s head on a lion’s
body.

The water troubles at Kom Ombo, and at many other Pharaonic
sites along the Nile, are a product of one of Egypt’s proudest
successes.

The massive Aswan High Dam, 30 miles upstream from Kom
Ombo, transformed Egyptian agriculture when it was completed
in 1971. Having tamed the ancient cycle of flood and drought,
Egyptians could cultivate up to the river’s edge, helping make
their land some of the most productive on earth.

In the decades since, though, the unwanted side effects of the
Aswan Dam have become gradually more apparent. In some
parts of the fertile Nile Delta, the dam has caused increased
salinity, forcing farmers to switch crops or abandon fields
entirely. And the Pharaonic temples lining the river have also
suffered.

The work at Kom Ombo is one of six major groundwater-
lowering projects financed by the United States in Egypt, at a
cost of $100 million, since the 1990s. Previous efforts have
focused on the Pyramids of Giza, the catacombs of Alexandria
and Cairo’s old city.



Sub questions

Question Number : 76 Question Id : 16794319056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The main theme of the passage is:
Options:
, = the 100 million dollar project being carried out by the US to save the temple.

the problem of waterlogged foundations of the

o o Kom Ombo temple in Egypt.

the problems created by the construction of the

3 % Aswan Dam in Egypt.

the strategy being use for draining out the water from the

, w» Toundations of the temple.

Question Number : 77 Question Id : 16794319057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“one of Egypt’s proudest successes™ refers to:
Options:

; = the Kom Ombo temple

> o the construction of Aswan Dam

- » the transformed Egyptian agriculture

4 » taming of the ancient cycle of flood and drought

Question Number : 78 Question Id : 16794319058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is an unwanted side effect of the Aswan Dam?

Options:

; = The ancient cycle of floods and drought has been tamed.

- = High yield crops can be grown in the desert land of Egypt.

5 % [Ihecrops can be irrigated at the required time.



4  The farmers need to switch crops due to salinity.

Question Number : 79 Question Id : 16794319059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Archaeologists have unearthed many significant objects from the Kom Ombo temple. Which one is the most important?

Options:
, « afinely preserved small sphinx

5> % 4 bust of Marcus Aurelius,

5 % @ relief of Sobek. the crocodile god

4 w 4.000-year-old grains of wheat

Question Number : 80 Question Id : 16794319060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement is NOT true about the Kom Ombo Sphinx?

Options:

, « Itissixty five feet high.

> w Itisfinely preserved.

- % Ithasadamaged paw.

, # Ithasno identifying marks.

Question Id : 16794319055 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension



Read the following passage and answer the questions given after
it

The ancient temple of Kom Ombo, 400 miles south of Cairo,
where archaeologists recently unearthed stack of decaying
mummies is facing an unusuval peril: waterlogged foundations.

Decades of flood irrigation in the surrounding fields, which were
once desert, have soaked the soil beneath the temple. Water has
penetrated the sandstone foundations, combining with salt and
heat to scrub some hieroglyphs from the temple walls. The
symbols and figures, effectively the lines of an ancient story, are
fading to dust.

The solution, according to engineers working on a $9 million
American-financed project, is some modern drainage. Since
October 2017, dozens of laborers have been digging a 30-foot-
deep trench around the temple walls in an effort to drain the
groundwater and divert it back into the Nile.

Unusually, a team of archaeologists is working alongside the
laborers, hoping to save any treasures that are uncovered in the
dig. It has found significant objects, including a bust of Marcus
Aurelius, an Old Kingdom pottery workshop and a relief of
Sobek, the crocodile god of the temple. On a searing July
afternoon, one archaeologist held forth an ancient lunch: a fistful
of charred, 4,000-year-old grains of wheat, discovered in an
excavated urn.

The most exciting discovery may have been in recent weeks,
when archaeologists pulled a sand-encrusted sphinx from a damp
hole. It has been dated to the Ptolemaic era, which ran from 305
B.C.to 30 B.C.

At less than two feet tall, the sphinx is a dwarf compared with
the famed Great Sphinx of Giza, which rises to 65 feet and
stretches 240 feet from head to tail. It also had a broken paw and
no identifying markings.

But unlike the Giza sphinx, whose features are badly eroded by
time and the elements, the Kom Ombo sphinx is finely preserved

— as is the sense of its mythic power: a man’s head on a lion’s
body.

The water troubles at Kom Ombo, and at many other Pharaonic
sites along the Nile, are a product of one of Egypt’s proudest
successes.

The massive Aswan High Dam, 30 miles upstream from Kom
Ombo, transformed Egyptian agriculture when it was completed
in 1971. Having tamed the ancient cycle of flood and drought,
Egyptians could cultivate up to the river’s edge, helping make
their land some of the most productive on earth.

In the decades since, though, the unwanted side effects of the
Aswan Dam have become gradually more apparent. In some
parts of the fertile Nile Delta, the dam has caused increased
salinity, forcing farmers to switch crops or abandon fields
entirely. And the Pharaonic temples lining the river have also
suffered.

The work at Kom Ombo is one of six major groundwater-
lowering projects financed by the United States in Egypt, at a
cost of $100 million, since the 1990s. Previous efforts have
focused on the Pyramids of Giza, the catacombs of Alexandria
and Cairo’s old city.



Sub questions

Question Number : 76 Question Id : 16794319056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The main theme of the passage is:
Options:
, = the 100 million dollar project being carried out by the US to save the temple.

the problem of waterlogged foundations of the

o o Kom Ombo temple in Egypt.

the problems created by the construction of the

3 % Aswan Dam in Egypt.

the strategy being use for draining out the water from the

, w» Toundations of the temple.

Question Number : 77 Question Id : 16794319057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“one of Egypt’s proudest successes™ refers to:
Options:

; = the Kom Ombo temple

> o the construction of Aswan Dam

- » the transformed Egyptian agriculture

4 » taming of the ancient cycle of flood and drought

Question Number : 78 Question Id : 16794319058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is an unwanted side effect of the Aswan Dam?

Options:

; = The ancient cycle of floods and drought has been tamed.

- = High yield crops can be grown in the desert land of Egypt.

5 % [Ihecrops can be irrigated at the required time.



4  The farmers need to switch crops due to salinity.

Question Number : 79 Question Id : 16794319059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Archaeologists have unearthed many significant objects from the Kom Ombo temple. Which one is the most important?
Options:

, « afinely preserved small sphinx

5> % 4 bust of Marcus Aurelius,

5 % @ relief of Sobek. the crocodile god

4 w 4.000-year-old grains of wheat

Question Number : 80 Question Id : 16794319060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement is NOT true about the Kom Ombo Sphinx?

Options:
, « Itissixty five feet high.
> w Itisfinely preserved.
- % Ithasadamaged paw.
, # Ithasno identifying marks.
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Question Number : 81 Question Id : 16794319062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SREdr S @ ggelr e frw uv 4

Options:



Question Number : 82 Question Id : 16794319063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
cfaaer 3 & B9 wif o

Options:
1 ® 1]

Question Number : 83 Question Id : 16794319064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gfaadr S Oy &1 o187 5y Ay 2

Options:

L» T
zwm

o W é:QT

Helod
4.« 2

Question Number : 84 Question Id : 16794319065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

efaadr S T oFET FHETEEE J@ET ST 87
Options:
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zwmﬁ
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Question Number : 85 Question Id : 16794319066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
graadr o e 7 7 fFm o & Rga= a8 O

Options:

1%1:“:‘%-
zwm
E.EW

4 % O

Question Id : 16794319061 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

oArr far a1 srgEmer # ga O T WeAl & 3cal aed|

gfaadr =i By & emar WEpd, Wiepd, TH, ST & o
ARA g O wfeem 39 By 7 O 5= wew
W Ue TaT IEae fodt ¢ owd Ffoera #r merafesar @
AT & yTE S e g1 gRadr S F sifog gErr
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g AT 3F owd oo gl W TE FH UEr H
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Sub questions

Question Number : 81 Question Id : 16794319062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 82 Question Id : 16794319063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gfeedr 3 & o e o

Options:
1 ® [ZI1E3]

Question Number : 83 Question Id : 16794319064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

grEadr & mifgey # wsT R Ay 27

Options:

L » TF
o W HATA
2 ® E‘QT

ST
4¢3

Question Number : 84 Question Id : 16794319065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v FSAEEr
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Question Number : 85 Question Id : 16794319066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

cfaady o w7 ¥ W oW & faeaa JE a7

Options:

Sub-Section Number: 2
Sub-Section I1d: 1679431212
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 16794319067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ FiF I s acm7 272
Options:

1.'5331_&'

g_ﬁm

R IEE)
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Question Number : 86 Question Id : 16794319067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 7 @ FiF @ 9 mT 7
Options:

1_;@:?-!1'&'
5 o ©ll=lel
= % °olld

4 % TS

Question Number : 87 Question Id : 16794319068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T # d59 o= ST @1 &7
Options:

1_J§m-'HT

o % diHe]
= % d9a

4 % TAT

Question Number : 87 Question Id : 16794319068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A # 959 e Hi7 T 22
Options:

1.Jm

o % dIHe]
= % dda

4 % TAT



Question Number : 88 Question Id : 16794319069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o # =uf@garTs T i o &7
Options:

1wﬁ

Question Number : 88 Question Id : 16794319069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 7 ofFgam=s o= =7 o 22

Options:

1<.¢.3=['-.ﬁ'

oSt

2 ®

qu-lﬁr

., v TEHTeET

Question Number : 89 Question Id : 16794319070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R CIECH 2

9 T9ATH &
Options:

1. o &

2_@3%
5% S

4 #% i



Question Number : 89 Question Id : 16794319070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qEYaTHE HAATH g

Options:

| & BH

2_@33‘“?
3_&3@-\%

4 % i

Question Number : 90 Question Id : 16794319071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & & +iF 3 e g7 &7

Options:

o« Mo
z_Jﬁ-
Swzﬂw

4%%

Question Number : 90 Question Id : 16794319071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & o i ar aeg 3egw 32

Options:

% Woar
z_gﬁ
gwqﬁm

4%%

Question Number : 91 Question Id : 16794319072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
‘IeeTTa T AT9-E=oe e
Options:

1_&33‘]1‘!-1-'1';@
E_QHEH"'mﬁ
S_QW'P?T%

4 o 3+ 9

Question Number : 91 Question Id : 16794319072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘et # HfU-fa=oe grem:
Options:

1_%3-3‘TET+ET%
2_;33-1'¢-T|’+?T'|-T.:T
3_«;33-1"?-ﬂ'+?|ﬁ

4 3+ T

Question Number : 92 Question Id : 16794319073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘UsTgs’ § T &
Options:

Question Number : 92 Question Id : 16794319073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
‘USTgs’ § A &
Options:

Question Number : 93 Question Id : 16794319074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e # Fia @ oreg g 872

Options:
1. v TR

4 % HTETS

Question Number : 93 Question Id : 16794319074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o 7 w7 @1 e o 87

Options:
g, o R

4 & HETA

Question Number : 94 Question Id : 16794319075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



‘NI H 39T 7
Options:
1. ® H

2.‘);?3-]'@'
3«»3‘”

4 ® ClIs]

Question Number : 94 Question Id : 16794319075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘HiFMT H 3TH
Options:

1. ® H

2.‘);?3-]'@'
3«»3‘”

g4 # ]

Question Number : 95 Question Id : 16794319076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

‘Afagrer H 987 &
Options:
1 ® o

2_@3%
3 v B

4_%»311_'[.%

Question Number : 95 Question Id : 16794319076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Afagrer H 98T &

Options:



Question Number : 96 Question Id : 16794319077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T qATISTET 2

Options:

Question Number : 96 Question Id : 16794319077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FET FT GATISTET &
Options:

1. 9H

o @ SIEL
z % ¥ d

Question Number : 97 Question Id : 16794319078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
‘TIrdaT &1 faene g
Options:

i % Hifern



Question Number : 97 Question Id : 16794319078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘TITHET FT AT e
Options:

RGeS
> o QY
Swm

4 % RO

Question Number : 98 Question Id : 16794319079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Tg T Tormer 9fa Siifaa g8r & fore o e gem:
Options:
1,;'9'?-EIT

Question Number : 98 Question Id : 16794319079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Tg T Tomer 9fa Siifaa 8r & o o e gem:
Options:
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Question Number : 99 Question Id : 16794319080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o &7 g Foer T e

Options:

Question Number : 99 Question Id : 16794319080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
. L~
e # g Fa+r T e &

Options:

Question Number : 100 Question Id : 16794319081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At 3HY a9 faar a1’ ae g 7 3RE 37 g
Options:

lwﬂ%



gwm
3_&3—31?

Question Number : 100 Question Id : 16794319081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘ﬁﬁmmﬁmmr’mﬁmpmrﬁz

Options:

1@%
gwm

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Subject Related

6
167943719
0

0
No
No
0
20
Yes
0

0

Subject Related

167943784
1

Online
Mandatory
20

20

20

Yes

No



Sub-Section Number: 1
Sub-Section I1d: 1679431213
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794319082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Britain recognized Irish independence in the year

Options:
;% 1959

5 o 1949
5 % 1999

4 % 1939

Question Number : 101 Question Id : 16794319082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & aw F amafrer $r 3SEr F Aegar &
Options:

% 1959
5 v 1949
5 % 1999

. = 1939

Question Number : 102 Question Id ;: 16794319083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Practice of Sati was made illegal in the yvear

Options:
;. % 1830
- % 1820

3 « 1829



4 % 1800

Question Number : 102 Question Id : 16794319083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty #F Fr gur 7 AeFeEr ST G o

Options:

, = 1830
. % 1820
2 v 1829

, = 1800

Question Number : 103 Question Id ;: 16794319084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All political parties were illegal in Russia before the year

Options:
1« 1914

> % 1917
5 % 1898

4 % 1905

Question Number : 103 Question 1d : 16794319084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ 9gel &F & T Toefae gof SRaEET O

Options:

| v 1914

. % 1917
- = 1898

., % 1905



Question Number : 104 Question Id : 16794319085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spain favoured the during the time of social change in Europe.

Options:
, = Church of Spain

> o Catholic Church
%z % Protestant Church

4 % Pentecost Church

Question Number : 104 Question Id : 16794319085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T F WY & FATNF IRaad & R T et Toram)
Options:

I ;ﬂmﬁ

4 ® ﬁmﬁ

Question Number : 105 Question Id ;: 16794319086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rasputin was an advisor to
Options:

1 % Czar William

- % Octavian-Nicolae Stansila
=z % David Judit

4 « Czar Nicholas II

Question Number : 105 Question Id : 16794319086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 106 Question 1d : 16794319087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Bolshevik were backed by which of these countries?

Options:
, » Malaysia

- % China

2 Japan

4 #% Thailand

Question Number : 106 Question Id : 16794319087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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gwiﬁ?'r
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Question Number : 107 Question Id : 16794319088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The German economy was worst hit in the vear 1929 due to one of the following reasons:



Options:
, « Crash of wall street Exchange

-~ % War indemnity

- » Lack of industrial progress

4 = Public uprising

Question Number : 107 Question 1d : 16794319088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 16794319089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year Hitler planned to seize control of Bavaria but failed and got arrested?

Options:
1 % 1919

5 o 1923
s % 1929

4 % 1928

Question Number : 108 Question Id : 16794319089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

feeor & FE ¥ IEfEr 1 B9 3us HRFR F Fa § A=ar 92 IfFT JEF 2 9T 6T 37
FRoar &t forar ar?




Options:

% 1919
- v 1923
- % 1929

. % 1928

Question Number : 109 Question Id : 16794319090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The people’s car Volkswagen was the brain child of which of the following economists implemented as a part of
economic recovery of Germany?

Options:
1 % Robinson

- % Kalecki

-  Hjalmar Schacht

4 % Ricardo

Question Number : 109 Question Id : 16794319090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SeAar & FR Aewaers Frafaf@a HdenfiEdl # @ v @ aiaser of S S Fr s gur &
TF HIT & T H @

Options:

. » UiS=as (Robinson)

» el (Kalecki)

2

5  EITOAR AMEA (Hjalmar Schacht)

. F=rEf (Ricardo)

4.

Question Number : 110 Question Id : 16794319091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which period Ghettoization was mated out to the Jews?



Options:
; % 1933-1939

5> « 1940-1944
5 % 1941-1945

4 % 1929-1933

Question Number : 110 Question Id : 16794319091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g FeE™ & '&g%‘&‘r FI 31T STETaAr F SgIAT AT oY
Options:

| % 1933-1939
- 1940-1944
- % 1941-1945

. % 1929-1933

Question Number : 111 Question Id : 16794319092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who were the Deutsches Jungvolk?

Options:
1 % Nazi Women Force

Nazi Army
5  Nazi Youth Group

Nazi Party collective

Question Number : 111 Question Id : 16794319092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SIg=rH JaThies (Deutsches Jungvolk) e 27

Options:
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Question Number : 112 Question Id : 16794319093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following Governor Generals was mocked by the British press for advocating clemency?

Options:
, « Lord Canning

- % Lord Dalhousie
% % Lord Dufferin

4 = Lord ConVogus

Question Number : 112 Question Id : 16794319093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
RBfter 9w g T # @ awee § 3 F= T B AT SRS FT #9137 IR AOT?

Options:

| TS Hide

. TS SHRie
=z B ?“ﬁ%m
4 ® F“ﬁ%m

Question Number : 113 Question Id : 16794319094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gangadhar Nehru was

Options:



1 « Kotwal of Delhi before the revolt of 1857
- % Zamindar of Delhi

- » Minister of counselling court of Kashmir

4, = Minister in Independent India

Question Number : 113 Question Id : 16794319094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MR AgH o

Options:

. » 1857 % fagig & 9gel feoell & wicarer

5 % TRAR & WA e AN

4 » TOY 99 # A

Question Number : 114 Question Id : 16794319095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After the American War of Independence from 1775 to 1783 and the formation of the United States of America, the
white Americans began to move towards which direction?

Options:
1 % Eastward

> o Westward
= % Northward

4 % Southward

Question Number : 114 Question Id : 16794319095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1775 & 1783 oo 3ANGH Fdadl BUY & a1¢ AR TYFd T AN & I3 & 918, @9 HARGHA
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Options:
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Question Number : 115 Question 1d : 16794319096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The earliest factories in England came up by the 1730%s. But it was only in the late that the number of factories
multiplied.

Options:
L % Seventeenth century

-  Eighteenth century

- u Nineteenth century

4 # Twentieth century

Question Number : 115 Question Id : 16794319096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 ® m'ﬂa

Question Number : 116 Question Id : 16794319097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



From 1834 till 1920. ships left the ports of India on a regular basis carrying people of various religions, gender, classes
and castes destined to work for a minimum of five years on one of the plantations in these countries:

Options:
1 % Srilanka

- # Malaysia

- = Singapore

4 « Mauritius

Question Number : 116 Question 1d : 16794319097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1834 & 1920 7%, Paffa &7 @ 9Ra & sewmd & faffew oA, =i 3k snfx 3% wgaT F &t =t
FES ¥ A AT Y, S R g H g # ¥ FH § FH I T 96 FH S 5 o0 =g 32

Options:
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Question Number : 117 Question 1d : 16794319098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Whom did the peasants consider as oppressors and also as allies of the British before the Revolt of 18577
Options:

1 % Indian rulers

-  Money lenders and Rich Indians

= # Upper caste people

4 % Lower caste people

Question Number : 117 Question Id : 16794319098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2.
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Question Number : 118 Question Id : 16794319099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After the annexation of which of these places did the religious leaders and self-styled prophets preached the destruction
of British rule before the Revolt of 18577

Options:
; w» Hyderabad Nizam

> o Awadh
=z % Maharashtra

, = DBengal

Question Number : 118 Question Id : 16794319099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 16794319100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Mention the name of the Moulvi who participated in 1857 Revolt.

Options:
1 « Moulvi Ahmadullah Shah

> % Moulvi Bismillah Khan
=z % Moulvi Abdul Rehman

4 % Moulvi Rahamatullah

Question Number : 119 Question 1d : 16794319100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 16794319101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Under whose leadership from 1820, did the British adopt policies aimed at “reforming™ Indian society by introducing
Western education. Western ideas and Western institutions?

Options:
1 « Governor General Lord William Bentinck

- % Governor General Lord Dalhousie
= % Governor General Lord Cornwallis

4 % Governor General Lord Warren Hastings

Question Number : 120 Question Id ;: 16794319101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for edit? : No
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Group Marks: 20
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Subject Related

Section Id : 167943785

Section Number : 1

Section type: Online
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Number of Questions: 20
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Section Marks: 20

Display Number Panel: Yes
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 16794319102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Complete the statement choosing the appropriate options.

The Arms Act was passed in the year , disallowing Indians from possessing arms. In the same year the
was also enacted to silence those who were critical of the government.

Options:
, = 1887;Regulating Act
5 o 1878; Vernacular Press Act

» 1848: Regulating Act

4 % 1887; Vernacular Press Act

Question Number : 121 Question 1d : 16794319102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 16794319103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the leaders from Bengal. Maharashtra and Punjab. who explored more radical objectives and methods. They
criticised the Moderates for their “politics of prayers”, and emphasised the importance of self-reliance and constructive
work.

Options:

; % MK. Gandhi, Jawaharlal Nehru and Sardar Vallabhai Patel

- » Sardar Vallabhai Patel. Rajagopala Chari and Sarvepalli Radha Krishna



-  Bipin Chandra Pal, Bal Gangadhar Tilak and Lala Lajpat Rai

4 = Bipin Chandra Pal, Bal Gangadhar Tilak and Lala Sitaram Rai

Question Number : 122 Question Id : 16794319103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 16794319104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gandhiji abruptly called off the Non-Cooperation Movement in February 1922 when a crowd of peasants set fire to a
police station in which of these places?

Options:
1 % Assam

- » Jallianwala Bagh

= % Utter Provinces

4 + Chauri Chaura

Question Number : 123 Question Id : 16794319104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question 1d : 16794319105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who threw the bomb in the Central Legislative Assembly on 8 April 1929 with the aim pf not to kill but to “to make the
deaf hear” with fellow nationalist B.K. Dutt?

Options:
, « Bhagat Singh

> % Subash Chandra Bose

- » LalaLajpat Rai

4 % Vanchinathan

Question Number : 124 Question 1d : 16794319105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 16794319106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who persuaded Mahatma Gandhi to allow women to participate in Salt Satyagraha though Gandhiji Initially opposed
women participation?

Options:



1 % Jawaharlal Nehtru
-  Sarojini Naidu

- » Bal Gangadhar Tilak

4 % Kasturba Gandhi

Question Number : 125 Question Id : 16794319106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question 1d : 16794319107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The end of Second World war can also be known as the beginning of

Options:
1 +« Cold war

> % Nuclear war
%z % Missile war

4 % Bio war

Question Number : 126 Question 1d : 16794319107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 16794319108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the Warsaw Pact Member country among these.

Options:

1 o East Germany

5 % west Germany

- # lurkey

4 % Austria

Question Number : 127 Question Id : 16794319108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 16794319109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Eastern alliance led by the Soviet Union. was created in the year and its principal function was to counter
forces in Europe.



Options:
. % 1965;NATO’s

- # 1955 Warsaw Pact’s

2 1955 NATO’s

4 % 1965 Warsaw Pact’s

Question Number : 128 Question Id : 16794319109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 129 Question Id : 16794319110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One among these is not the founder of NAM.

Options:
1 % Gamal Abdel Nasser

- u Josip Broz Tito

- % Jawaharlal Nehru

4 « Hubert Pierlot

Question Number : 129 Question 1d : 16794319110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question 1d : 16794319111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who waged a battle in the 1960°s against anti-Black racial discrimination in the USA?
Options:

.« Martin Luther King

- % Abraham Lincoln
% % Thomas Jefferson

4 w JohnF. Kennedy

Question Number : 130 Question Id : 16794319111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 16794319112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tehran Conference Declaration of the Three Powers (US, Britain and Soviet Union) was made in which period?

Options:



; u 1945, February

5 of 1943, December

2 #® 1945, June

4 % 1945, October

Question Number : 131 Question Id : 16794319112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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_ 4 1945 57
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Question Number : 132 Question Id : 16794319113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Peace keeping operations and Missions come under which category in the United Nations System Principal Organs?

Options:
, = Programs and funds

> » Non-Subsidiary bodies

= % Economic and social council

4 « Subsidiary bodies

Question Number : 132 Question Id : 16794319113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question 1d : 16794319114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which UN Secretary General negotiated the independence of Namibia?

Options:
1 % U. Thant

- % Kurt Waldheim
= « Javier Perez de Cuellar

4 % DBoutros - Ghali

Question Number : 133 Question 1d : 16794319114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 16794319115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who declared the US-led invasion of Iraq as an illegal act?

Options:



1 « Kofi A. Annan
- % Javier Perez de Cuellar
= % Kurt Waldheim

4 = TrygveLie

Question Number : 134 Question Id : 16794319115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 16794319116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The World Bank was created immediately after the

Options:
1 % World War 1
> « World War 2

= % Cold War

4 % Economic crisis in USA

Question Number : 135 Question 1d : 16794319116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 16794319117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the World trade Organization set up?

Options:
;% 1994

5 « 1995
5 % 1996

4 ® 1997

Question Number : 136 Question Id : 16794319117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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- = 1996
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Question Number : 137 Question Id : 16794319118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To which country did Karl Marx exile and lived there till death?

Options:



1 % France

5 % Japan

s % USA

4 « England

Question Number : 137 Question Id : 16794319118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question 1d : 16794319119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the February Revolution in Petrograd. women led the strike and this came to be known as:
Options:

1 % Socialism in Russia

-  International Women's Day

- % Women Empowerment in Russia

4 % Freedom of Women in Russia

Question Number : 138 Question Id : 16794319119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 16794319120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was Lenin April thesis?

Options:
1. ®

Lenin declared that the war be brought to a close, land be transferred to the peasants, and banks be closed permanently.

2 ®

Lenin declared that the war to be continued. land be transferred to the peasants. and banks be nationalized.
3 -

Lenin declared that the war be brought to a close. land be nationalised. and banks be nationalized.

4 v
Lenin declared that the war be brought to a close, land be transferred to the peasants. and banks be nationalized.

Question Number : 139 Question Id : 16794319120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 16794319121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the sentence.

The main initiators for the Russian Civil War were *The Reds’, ‘The Whites® and * %
Options:
1 « The Greens

> #% The Blues

- % Ihe Oranges

4 % The Blacks

Question Number : 140 Question 1d : 16794319121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Section Id : 167943786

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431215
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 16794319122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify what is A, B. C and D?

days get longer

days get longer

days get shorter davs get shorter

Options:
A: Summer Solstice
B: Autumnal Equinox
C: Winter Solstice

, D: Vernal Equinox

A: Summer Solstice

B: Winter Solstice

C: Autumnal Equinox
- = D: Vernal Equinox



A: Summer Solstice
B: Autumnal Equinox
C: Vernal Equinox

= % D: Winter Solstice

A: Autumnal Equinox
B: Summer Solstice
C: Winter Solstice

4 = D:'Vernal Equinox

Question Number : 141 Question 1d : 16794319122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 16794319123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. X wants to celebrate his festival twice on the same year same day in Alaska and Russian Federation. How can that
be possible?

Options:
, » BY crossing Arctic ocean

- » Being in One country and visualizing of going to other

-  BY crossing International Date Line

, = By crossing Atlantic Ocean

Question Number : 142 Question Id : 16794319123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 16794319124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Longitude 82.5E doesn’t cross through which of these places?

Options:
, = Chhattisgarh

> % Odessa
=z % Utter Pradesh

Question Number : 143 Question 1d : 16794319124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 16794319125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who said “It was realised that all along the mid oceanic ridges, volcanic eruptions are common and they bring huge
amounts of lava to the surface in this area™?

Options:
1 % Carl Ritter

» » David Harvey

- u Ptolemy

4 Wegener

Question Number : 144 Question Id : 16794319125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 16794319126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aluminum, Calcium. Silica. . Magnesium are the major elements of Amphibole.

Options:
1 % Potassium

5 % Copper

z % Sodium

4 « Iron

Question Number : 145 Question 1d : 16794319126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question 1d : 16794319127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Identify the Non-ferrous metal among these.

Options:
1 TH]

- % Gold
3 % Platinum

4 % Iron

Question Number : 146 Question Id : 16794319127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 16794319128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
This picture of globe depicts

------
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Options:

, = Vvarious Geologists revelation of Earth in 18th Century



- w Navigation maps for ships

-  Position of continents through geological past

4, = Position of continents through satellite pictures

Question Number : 147 Question Id : 16794319128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 16794319129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which one of the following is not a minor plate?

Options:
1 « Antarctica

- % Arabia

= % Nazca



4 % Philippines

Question Number : 148 Question Id : 16794319129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Identify Physical features formed in the following diagram.

Options:
1R A-Stalactite.  B-Pillar, C-Cave Mouth, D-Stalagmite

5 ® A-Stalactite,  B-Stalagmite, C-Cave Mouth. D-Pillar
« A-Cave Mouth, B-Stalagmite, C-Pillar, D-Stalactite

3

i o A-Stalactite,  B-Pillar, C-Stalagmite. D-Cave Mouth
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A deep. long and wide trough or basin with very steep concave high walls at its head as well as in sides is
known as

Options:

1 @ Lateral Moraine

-  Cirque
- » Glacial valley

4 % Esker
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Which one of the following causes rainfall during winters in north-western part of India?
Options:

. « Western Cyclonic Disturbances

> u Retreating Monsoon

=z % Southwest Monsoon

4 = Inter Cyclonic Convergence
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Which winds account for rainfall along the Malabar coast?
Options:
1 % North east monsoons

5 « South west monsoons
= % South east monsoons

4 # North west monsoons
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Why does India have a monsoon type of climate?
Options:

, « Climate is influenced by monsoon winds

- » Climate is influenced by monsoon of China

- » Climate is influenced by prevailing winds

4 = Climate is influenced by monsoon of central India
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What does (ii) represent?
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Options:
, w Areas receiving rainfall over 400 cm.

5 o Areas receiving less than 20 cm of rainfall.



= % The direction of the south-west monsoon over India.

4 % The direction of the south-east monsoon over India.
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Identify the layver of Earth’s atmosphere with this statement. One important feature of it is that it contains a layer of
ozone gas.

Options:

; % Troposphere

-  Stratosphere
= = Mesosphere

4 # Thermosphere
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‘What does 78% refer to?

Composition of Air

Options:
1 % Carbon di Oxide



> % Helium

5 % Oxygen

4  Nitrogen
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Which gas majorly creates greenhouse effect in the atmosphere?

Options:
1 % Helium

> w Nitrogen

= % Oxygen

4 « Carbon di oxide
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Which of these is an important factor that influences the distribution of temperature?

Options:
1 % Isolation

> « Insolation

- = Amalgamation

4 % Sunstroke

Question Number : 158 Question Id : 16794319139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
SAH T Hid TT AGcaIUl FRF g Al dTIAH & [IaR0T FF FeAfaS T g7

Options:
1. =% HeldTlg

2 v 3d9d
= u THSOT

4%‘1
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Identify these in Conventional Signs and Symbols on a map.

Options:

, = Hospital. Dead end, Pit ahead
» Inhabited, Deserted. Fort
% Inhabited, Dead end. Pond

. Hospital, Deserted, Pond

Question Number : 159 Question Id : 16794319140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TART W IRINE Tohdl #R Tde § S0 9897
R
Options:

1.

. ToarH, FEEe, foen

, « EIATS, FAIEUSA, ATAE

Question Number : 160 Question Id : 16794319141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify The Physical Feature Formed by these contours.
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Options:
1 % Conical Hills

> % U-Shaped Valley

3 % Spur

4 « Plateau
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Identify (@ in the below.

Point of Isopleth = Distance between two pointsincm X @&
Difference between the two values of corresponding points

Options:
1 % Midlevel

- % Cormer
= « Interval

4 % Center
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Which one of the following is best suited to represent the decadal growth of population?

Options:
,  Piediagram

- u Circle diagram

- % Line graph

4 = Flow diagram
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Which one of the following maps is known as “Dynamic Map™?

Options:
| Dot map

» = Isopleth

5 = Choropleth

4  Flowmap
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Arrange in order.

RN SR

Options:
A: Producers
B: Secondary consumers
C: Primary consumers

| % D: Tertiary consumers

A: Tertiary consumers

B: Primary consumers

C: Secondary consumers
- % D: Producers



A: Secondary consumers
B: Tertiary consumers
C: Primary consumers

= % D: Producers

A Tertiary consumers
B: Secondary consumers
C: Primary consumers

4 « D:Producers
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Given below is the flow of energy in an eco-system. Identify (?) the blank.

Options:
, » Sunlight

- % Primary consumer

- » Secondary consumer

4 # Tlertiary consumer
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Mention any 2 states where red and vellow soils are available.

Options:
1 % Utter Pradesh and Bihar
> % Jammu Kashmir and Himachal Pradesh

- » Gujarat and Rajasthan

4 « Odisha and Chhattisgarh
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Arable land in the irrigated zones of India is turning saline due to one of the following reasons:

Options:
1 % Use of fertilisers

o  Over irrigation

- = Addition of gypsum

4 w Over grazing
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‘What is the difference between Khaddar and Bangar?
Options:
, w» Khaddar is old alluvial soil and Bangar is new alluvial soil

-  Khaddar is a fertile soil and Bangar is older alluvial soil.

- w Khaddar is available in large parts of Northern India and Bangar is available in South India.

4 = Khaddar is not a fertile and Bangar is a fertile soil.
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Identify the reason from the options given below.

Why have the western slopes of the Western Ghats covered with thick forests and not the eastern slopes?
Options:
1 % Number of rivers are more in western Ghats than the eastern Ghats.

- u Eastern slopes get much heavier rainfall than the western slopes.

5  Westemn slopes get much heavier rainfall than the eastern slopes.

, = Eastern slopes are plains and suitable for agriculture.
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Name a state in India which is covered with Tropical Deciduous forests.

Options:
1 « Odisha

> % Kerala

5 = Gujarat

4 = Rajasthan
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Identify the community in Orange.

Jaffna

Options:
1 % Muslims

> % Sinhalese
% « Srilankan Tamil

4 % Indian Tamil
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Name the country which has this kind of power sharing system. Many powers of the central government have been
given to state governments of the two regions of the country. The state governments are not subordinate to the Central
Government.

Options:

1 % Srilanka
- % India
5  Belgium

4 % China
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Identify the appropriate reason from the given options.

If agriculture and commerce are state subjects, why do we have ministers of agriculture and commerce in the Union
cabinet?

Options:
, = Central Government believes in power sharing, so the responsibility is being shard.

- » Central Government can monitor the states and advice and upgrade these industries.

5 » State Government are not capable enough to deal it alone.
4. ¢
A country should deal with other nations on these subjects. so we do need ministers in Union Cabinet.
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Identify the reason from the given options.

Prime Minister runs the country. Chief Minister runs the state. Logically. then. the chairperson of Zilla Parishad should
run the district. Why does the D.M. or Collector administer the district?

Options:
L,
The Chairperson of Zilla Parishad is an Administrative head and DM is a Political head. Power sharing is executed.

2. ¢
The Chairperson of Zilla Parishad is a Political head and DM is an Administrative head. Power sharing is executed.

- = System of check and balance is maintained in Central and State Government.
4 ®
Since the Chairperson of Zilla Parishad is not a political head but an administrative head, DM takes the charge.
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Look at the pictures and identify what are these two pictures speaking about?

Options:
, = Untouchability

> w World cup

3 « Racism

4 = National sport of America
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social differences create possibilities of deep social divisions and tensions. social differences do not
usually lead to conflicts.

Options:
| « Over lapping; Cross cutting

-~ u Cross cutting: Over lapping
- % Cultural; Ethical

4 R Cultural; Moral
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‘I have a dream that my four little children will one day live in a Nation where they will not be judged by the colour of
their skin but by the content of their character’ - was quoted by one of these

Options:
» Martin Luther King Sr

1.
-  Martin Luther King Jr
- % Mahatma Gandhi

4 % B.R. Ambedkar
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Identify the political parties based on their symbols.

Options:
i # TDP and TRS

> % DK and DMK
z # MDMK and TDMK

4 v DMK and AIADMK

Question Number : 178 Question Id : 16794319159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Identify the states which have following Regional political parties.

Janata Dal (Secular): ;
Revolutionary Socialist Party:
Options:

, = Kerala; West Bengal

-  Karnataka: Kerala

5 % Karnataka; West Bengal

4 w Uttar Pradesh: Kerala
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Identify the one-party country among these.

Options:



1 % Pakistan
o o China
- % Taiwan

4 % USA
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Group All Questions: No
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Question Number : 181 Question Id : 16794319162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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More than one representative may be elected from one constituency. Voter votes for the party is the PR system of which
of these countries.

Options:
1 % China

- ® UK
5 « Israel

4 % USA
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‘What sort of challenge of democracy do you find here?

Mubarak Re-elected

Awl T Mol T ket
3

Options:

. Election was not conducted in a democratic way

> w Military power without election

5 # Wwomen were not given equal importance

4, = Dictatorship without election
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What was Bolivia’s popular struggle famous for?
Options:

¢ Electricity bill

DR

> « Water bill
= % House rents

4 = Hike on clothing
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Identify the feature of Democracy.

The King of Bhutan has declared that in future he will be guided by the advice given to him by elected representatives.



Options:

, = Freeand fair electoral process

-~ u Respect for rights

=z % Rule of law

4  Decision making made through the decision of elected leaders
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Which country is this cartoon referring to?




Options:
1 « China

> % Japan
=z % India

4 % Pakistan
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Identify from the given options.

‘The independence of India should mean the independence of the whole of India. .. Independence must begin at the
bottom. Thus every village will be a republic’ - was quoted by

Options:



1 +« Mahatma Gandhi
- % Jawaharlal Nehru
= % Subash Chandra Bose

4 % B.R. Ambedkar
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is frequently cited as one of the most successful cases of democratic decentralisation in Latin America.

Options:
1 % Mexico
- % Costa Rica

=z % Panama

4 « Bolivia
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Any individual, whose fundamental right has been violated, can directly move the Supreme Court for remedy and the
Supreme Court can give special orders in the form of

Options:
1 « Writs

- = Appellate

= ® Advisory

4 % Government Order
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Correct Marks: 1 Wrong Marks: 0.25
Identify the fundamental right from the given statement.

“The Constitution states that all minorities, religious or linguistic, can set up their own educational institutions in order
to preserve and develop their own culture’

Options:
, w Freedom of speech

- « Cultural and educational rights

- » Rightto freedom

4 = Right to freedom of religion
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Who was the King of Nepal during the people’s movement for democracy?

Options:
1 % Sumantra

- = Rajendra

5  Gyanendra



4 w Gyanaprakasa
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Appropriate behaviour and correct response can be increased:

Options:
, Dy giving rewards

> « By praising

- » By ignorance

4 # BY practice
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Fearing of authority and trving to avoid punishment comes under:

Options:
| % Cognitive development

-  Moral development

- # Physical development

4 = Psychomotor skills
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Formative assessment is carried out:
Options:

, « throughout the year



- u inthe initial days of learning

5 » inthe last days of a year

4 = prior to starting of classes
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Science fundamentally requires:

Options:

. « A setofsystematic rules of procedure
A very good teacher

A very good learner

A qualitative approach to learn

o
5
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“In modern India girls tend to leave school more than boys™ at the school level of:

Options:
, = Early education

- « Second level of education

- u Higher education

4 % Atall levels
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Strategic competence and adoptive reasoning are the strands for:

Options:



.« Mathematical proficiency
Scientific education

- u General knowledge

4 % Social sciences
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“Complex cognitive process™ of decoding symbols is called:
Options:

, « Reading

5 w Wwriting

= % Arteducation

4 = Comprehensive skills
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Instructors becomes facilitators of creative learning in which of the below scenarios?

Options:
1L o Integrating arts

> # When facilities are required in class

5 » Self-learning environment

4 = Classroom learning
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Which is the modern form of learning from the below?

Options:



, w Traditional learning

o  Self-learning

- » Instructional learning

4 # Classroom learning
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The concept of inclusive education is that:

Options:

, « Every child in society should be valued equally

- % A special child must be included in every child

= » Only special children should be educated in schools

4 = Allstudents must respect a special child
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